CH-6 (MULTIPLICATION)

CLASS -3 SUB - MATHS
ACTIVITY -6

ANSWER KEY
Q-2. A box full has 145 balls . How many balls will be there in 65 such boxes ?
Sol : Balls in 1 box = 145
Balls in 65 boxes = 145 x 65 = 9425 boxes . 145
X695

725
870Xx

9425

Q-3. A vegetable seller earns Rs 575 daily . How much money will he earn in
16 days ?

Sol : Money earns in 1 day = 575
Money earns in 16 days = 575 x 16 = Rs 9200 575
X16
3450
575X

9200
Q-4. Multiply 101 with the largest 2 digit number .
Sol : Largest 2 digit number = 99 101
X99

909
909x

9999







